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The result of social interaction is .................

(A) social stratification (B) social value

(C) social process (D) social pattern

“Social change is called change in social relations.” Who said it ?
(A) K. Davis (B) AW. Green

(C) R.M. Maclver and C.H. Page (D) Moris Ginsberg

Who has classified status into “ascribed” and “achieved” ?

(A) Robert Bierstedt (B) Ralph Linton

(C) H.M. Johnson (D) R.M. Maclver

“Primary groups are nurseries of human nature.” This is stated by :

(A) H.M. Johnson (B) Herbert Spencer

(C) George Simmel , (D) C.H. Cooley

- 100

Any small group marked by continuous close interaction of a highly personal

and emotionally supportive nature is called :
(A) Reference group (B) Primary group

(C) Interest group (D) Secondary group

AP(CC) Sociology-2016 2
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6. Who has classified the groups as ingroup and outgroup ?

(A) W.G. Sumner (B) Laster F. Ward
(C) C.H. Cooley (D) J.H. Fichter

7. Who has given the idea of consciousness of kind ?
(A) H.M. Johnson (B) R.M. Maclver
(C) F.H. Giddings .(D) None of these

8. Who has defined the concept of “Looking Glass Self” among the following ?
(A) G.H. Mead (B) 8. Freud
(C) C.H. Cooley (D) D.H. Wrong
9. A dcveiop;ed society is characterized by :
(A) Particularistic value (B) Diffuseness value
(C) Ascription value (D) Specificity value

10. The group other than one’s own group shaping behaviour of an individual

is called :
(A) ingroup (B) outgroup
(C) primary group (D) reference group

AP(CC) Sociology—-2016 4
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11.

12.

13.

14.

15.

Interpretative sociology’s basic.unit of analysis is :
(A) organization (B) structure
(C) system (D) action

The internal contradictions within the capitalist system are discussed by

Karl Marx in :
(A) The Communist Manifesto (B) The German Ideology
(C) Das Capital (D)) The Poverty of Philosophy

Who among the following gave a linear explanation for the evolution of human

societies ?

(A) Pareto | (B) Weber

(C) Spencer (D) Sorokin

Conspicuous consumption is an example of :

(A) Manifesto function (B) Latent function

(C) Cofunction (D) Disfunction

Movement of a group from one social position to the other is called :
(A) Horizontal social mobility (B) Vertical social mobility

(C) Social mobility (D) Social development

AP(CC) Sociology-2016 6
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16.

17.

18.

19.

20,

Anomic suicide is the result of :

(A} Low social integration (B) Low social regulation
(C) High social integration (D) High social regulation
Who has given the concept of ‘fﬁnctional alternatives’ 7

(A) Talcott Parsons (B) Robert ;( Merton

(C) Albert Cohen (D) Emile Durkheim

Who regards deviance as functional for society ?

(A) Albert Cohen (B) Robert K. Merton

(C) Emile Durkheim (D) Radecliffe Brown

Who among the following drew a distinction between ‘social structure’ and

‘structured form’ ?

(A) Radcliffe Brown (B) S.F. Nadel

(C) Edmund Leach '- (D) Evans Pritchard
‘Structure and Function in Primitive Society’ is written by :
(A) B.K. Malinowski (B) Radcliffe Brown

(C) Ferdinard de Saussure (D) Claude Levi-Strauss

AP(CC) Sociology-2016 8
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21,

22,

23.

An institution can be best described as a complex of :
(A) Authority (B) Statuses
(C) Roles (D) Procedures

Which one of the following is so important for the society that its violation

calls for severe punishment ?
(A) Customs (B) Mores
(C) Ideologies (D) Folkways

Children learn the ways of adults perpetuating the values, norms and social

practices of their culture. What is this process called ?

(A) Evolution (B) Natural selection

(C) Social interaction (D) Socialization

The spread of culture traits from group to group is termed as :
(A) Diffusion (B} Assimilation

(C) Acculturation

(D) Cultural integration

The tendency to see one's own ideas, beliefs and practices superior to that

of other is called :
(A) Xenophobia (B) Self-orientation

(C) Ecocentrism (D) Ethnocentrism

AP(CC) Sociology-2016 10
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23.
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26.

27,

28.

29,

The habitual way of doing things by a group or society is called :

(A) Norm (B) Value

(C) Law (D) Custom

Who amongst the following termed community and association as gemeinschaft

and gasellschaft ?

(A) F. Tonnies (B) E. Durkheim

(C) H. Spencer (D) M. Ginsberg

A particular social status involves not a single associated role, but an array

of associated roles. What was this termed as by R.K. Merton ?

(A) Status Set (B) Multiple Statuses

(C) Multiple Roles (D) Role Set

The development of the ecological approach to urban analysis is attributed

to :
(A) Frankfurt School (B) Vienna School
(C) Chicago School (D) Manchester School

AP(CC) Sociology-2016 12
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28.
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30.  Louis Wirth was one of the first to analyse the effects of :
{A) Automation (B) Industrialism
(C)  Post-industrialism (D) Urbanism
31.  Which one of the following statements is correct ?
Industiral society refers to :
(A) Durkheim’s concept of mechanical solidarity
(B) Tonnie’s model of collective orientation
(C) Parson’s model of collective orientation
(D) Redfield’s type of archaic society

32,  According to Malthus, in the control over-population, famines represent an

example of :

(A) Preventive checks (B) Negative checks

(C) Positive checks (D) Morbid checks
33. What does population pyramid deal with ?

(A) Age and marriage structure

(B) Age and sex structure

(C) Age and labour force structure

(I Age and literacy structure

AP(CC) Sociology—2016 14
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34.

35.

36.

37.

Low birth rate and pregnancy wastage in the population are primarily

due to :
(A) Traditional practices (B) Maternal malnutrition
(C) Female illiteracy (D) Insufficient health care

An acephalous society is one in which :
(A) Members have low intelligence

(B) There is no formal head

(C) There is no political system

(D) Anarchy prevails

The process by which national integration is achieved by recognizing the

separate but equal status of the various constituents of a nation is

called :
(A) Multiculturalism (B) Secularism
(C) Separatism L ™ (D) Two-nation theory

What is it, according to Radha Kamal Mukerji that can alone supply the moral

foundation of world reconstruction of the future ?
(A) Goals (B) Ideals

(C) Norms (D) Values

AP(CC) Sociology-2016 16




34.

35.

36.

37.
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38. An attempt to demonstrate the binary opposition in all aspects of culture was

made by :
(A) Levi-Strauss (B) S.F. Nadel
(C) Radcliffe Brown (D) None of these

39. The study of Dramaturgy was the focus of :
(A) C.H. Cooley (B) G.H. Mead
(C) H. Blumer (D) E. Goffman

40.  The basic difference between Blumer and Kuhn about symbolic interactionism

i8 @
(A) Conceptual . (B) Methodological
(C) Theoretical L (D) Typological
41. “Society is in a state of moving equilibrium.” This is a view of :
(A) Symbolic interactionists (B) Functionalists

(C) Conflict theorists (D) Evolutionists

AP(CC) Sociology-2016 18
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42. Which category of social groups, according to Dahrendorf, emerges as a source

of changes in social structure ?
(A) Reference groups _ (B) Quasi-groups
.

(C) Conflict groups (D) Interest groupa;,
43. Durkheim’s explanation of Penal system is :

(A) Functionalist (B) Conflict

(C) Interactionist (D) Ethnomethodologist
44. Logical actions are those actions which are logical :

(A) Subjectively but not objectively

(B) Object:ively but not subjectively

(C) Both subjectively and objectively

(D) Neither subjectively nor objectively
-45. “Text is important for understanding the reality.” Who said this ?

(A) Pierre Bourdieu (B) Jacques Derrida

(C) Anthony Giddens (D) M. Foucault

AP(CC) Sociology-2016 20
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46. Retreatism is one of the indicator of :
(A) Alienation (B) Anomie
(C) Mass society (D) Active society
47. According to Engels :
(A) A woman’s work never gets done
(B) Women are the last to be hined and first to be fined
(C) Women constitute a reserve labour force
(D) Women can only be a seasonal labour force
48. The book ‘The Handbook of Economic Sociology’ was written by :
(A) . A. Etzioni (B) J. Schumpeter
(C) Neil J. Smelser (D) M. Weber

49. Name the sociologist who suggested that Human behaviour is regulated by

means of “Surveillance” ;
(A) M. Foucault (B) T. Parsons

(C) J. Derrida (D) A. Giddens
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50.

51.

b2.

53.

Who has developed the concept of ‘Structuration’ ?
(A) Jacques Derrida (B) Pierre Bourdieu
(C) Anthony Giddens (D) Maurice Godelier

...................... have explained the duplicity of people’s socially constructed

(A) Peter Berger and T. Luckman
(B) Karl Marx and Max Weber

(C) Karl Mannheim and E. Durkheim
(D) E. Husserl and A. Schutz

............... is the field of inquiry that seeks to understand the methods people

employ to make sense out of the world.

(A) Symbolic interactionism (B) Phenomenology
(C) Ethnomethodology 1 (D) Dialectical method
The term ethnomothodology is coined by :

(A) Peter Berger (B) Alfred Schutz

(C) Harold Garfinkel (D) E. Goffman
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54. The book “Phenomenology of the Social World" is written by :

(A) Edmund Husserl | (B)

(C) Ka.rl Mannheim (D)
55. Dahrendorf has only talked about :

(A) Socialistic society (B)

(C) Modern society (D)

Max Weber

Alfred Schutz

Industrial capitalism

Post-industrial society

56. Which of these pairs is wrongly matched ?

(A) G.H. Mead — Symbolic Interactionism

(B) Herbert Blumer — Symbolic Interactionism

(C) E. Durkheim — Functionalism

(D) Max Weber — Social Fact

57. Symbolic interactionism gives emphasis on :

(A) Culture

(B) External determinants of behaviour

(C) The structural units of society

(D) The subjective process
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58. According to Karl Marx, which one of the following is not a dimension of

alienation ?
(A) Alienation from production
(B) Alienation from labour
(C) Alienation from nature
(D) Alienation from self
59. Article 332 deals with :
(A) Reservation of seats for SCs and STs in the Lok Sabha

(B) Reservation of seats for SCs and STs in Legislative Assemblies of

States

(C) Reservation of seats and special representation to cease after thirty

years
(D) Representation of the Anglo-Indian community in the Lok Sabha

60. Promotion of educational and economic interests of scheduled castes under

the Constitution of India is provided in :
(A) The Preamble (B) The directive principles

(C) The eighth schedule (D) Article 18

AP(CC) Sociology—-2016 28



58. @ wEd @ sER freifEa § | R FeE w oAEE W€
(A) 3= |/ FETE
(B) %W A HeTE
(C) w&fa ¥ A
(D) T4 | FETE
59. =% 332 w1 fowa ® -
(A) i | ¥ srgfaa snfed aw srgfae swnfadl & fog smfua w=m

(B) T #t fawm wws § srgieae sifadl am sgiea saenfad & fag antfea

o
(C) | T & @ omika wwr aw fafte wfaffuea =1 awfa
(D) @ g A we-vemm ger & wfaRtae

60. uda wfEuE % awa sgfaa el @ Gy ag i fedl % 3= ' Frefaten

§ 9 frud waye fem @ & 2
(A) Teefew H (B) fv= o= o
(C) smedt srgget | (D) =% 18 §

AP(CC) Sociology-2016 29 P.T.O.



61.

62.

Who held the view that Indian tribals were backward Hindus ? |
(A) G.S. Ghurye (B) Y.B. Damle
(C) A.R. Desai (D) N.K. Bose

Who among the following is associated with ‘Human Development Index (HDI)

for measuring the level of development among various countries ?
(A) Raymond Firth (B) .Mahabub-ul-Haque

(C) M.N. Srinivas (D) A.R. Desai

Who among the following is not a scheduled tribe of India ?

(A) Bhils (B) Santhals

(C) Gurjars (D) Ho

Who defined peasants as small agricultural producers, “who with the help
of single equipment and the labour of their families, produce mostly for their
own consumption, direct or indirect, and for the fulfillment of obligation to

holders of political and economic power” ?
(A) A. Beteille (B) T. Shanin

(C) A.R. Desai (D) A.V. Chaynor
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61.

62.

7% urm fas & fF vRda st fred feg 4 ?
(A) “uwa. 93 (B) ®EA. T
(C) TR 24 D) TH. A\

faﬁm%ﬁ%m%maﬁwﬁ%ﬁﬂ‘mmz@aﬁ:(@.ﬁm.)

frefafas § ¥ fegd @y gt & 2
(A) TvE %Y (B) Wega-IA-TH

(C) TH.UA. Ziftard (D) TR 98 .

(A) o= (B) €a&

(C) TR D =

WWﬁ@ﬁ;ﬁW%mﬁmmt.“ﬁmm
mmmﬁmﬁiimﬁmwmmmmﬁm:mmmﬁ

mmmmmmmﬁmmmwmt"?
(A) T K (B) &. wfA

(C) T.3R. 243 (D) wd. TR
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65. Who studied the structural and functional unity of joint family in

‘Mahua' ?
(A) Iravati Karve (B) M.S. Gore
(C) Leela Dube (D) LP. Desai

66. Who said that social stratification in India is based on ‘purity and

pollution’ ?
(A) M.N. Srinivas (B) A.R. Desai
(C) Louis Dumont (D) Yogendra Singh

67. ‘Kula' was associated with :

(¢) Torbriand Islanders (6) Malinowski
(c) Andamanr Islanders .+ (d) Frazer
Codés 4

(A) (b) and (c) (B) (b) and (d)
(C) (a) and (b) (D) (a) and (c)
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65. TEST § 'WE WRER H WEATH T WA A w1 e feed fen 2
(A) woEd w4 (B) THUH. TR
(C) wiren 3@ (D) s &or

66. f&wd =m f& v d wfos wds ofasa a9 wgoo @ snurfig & 2
(A) . HifEm (B) TR, 29T

(C) fw zgHl (D) 4=z fow

67. ‘=men’' feww watuag @ ?

(@ ZfFuvE Froar (b) et
(¢) IUEHR FroaTEt (d) Wi
=z

(A) (b) ¥R (o) (B) (b) 3 (d)
(C) (a) 3R (b) (D) (a) 3R (o)
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68.

69.

70.

71.

The prohibition of Sagotra marriage among the Hindus is an example of

marriage :

(A) Taboo (B) Clan exogamy

(C) The rules of caste endogamy (D) The incest taboo

In which of the following types of research, is hypothesis a prerequisite ?
(A) Biographical study (B) Experimental study

(C) Interpretative research (D) Critical research

Which type of sampling method is ideally suited, where there is no knowledge

about population 7
(A) Convenient sampling method (B) Purposive sampling method

(C) Quota sampling method | (D) Snowball sampling method

L

Range is a measure of :

(A) Central tendency (B) Dispersion

(C) Association (D) Correlation
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69.

70.

71.

foall # wira faaw @ Fraw fEgw ST € 7

(A) afsfa =+ (B) Tira afefdars (=1 fasnia fEEme)
(C) wnfa @i faae & FHEm (D) A Je (A fAfEE)
wia = fyofafes wwdl § @ fead ofeean # gEa ¥ 2

(A) Sfias @l e1Aad (B) WArHE AAA

(c) Ta=-a w9 (D) SAeiEEE: WY
mm@aﬁﬁﬁimaiﬁmm%maﬁvﬁwmamm
| I § 2

(A) Hfawrss Wi 9Sid (B) wweya wiraa ugfa

(C) Trmam (Fren) wle=ga o6 (D) Eafa wio=ad Jafd

g g faw-AF fREEm WY § 2

(A) == wgfa (B) WER

(C) W=l (D) TEE=EH
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72.

73.

74.

Match List 1 with List II and select the correct answer from the codes given

below the lists :
List I

(@)  Oral History

(b)  Survey

(e}  Sampling

(d) Case study

Codes :

(a) () (e)
(A) (1) (&) (i)
(B) (1) (D) (iv)
(C) (iit) (iv) (1)

™ @ Gi) (ii)
“Attribute” is related to :
(A} Qualitative variable

(C) Constant

(d)

(tv)

(2i1)

(if)
(1)

List 11
() Quantitative data
(i) People’s knowledge
(i11) Indepth study of a unit

(iv) Representative of a whole

(B) Quantitative variable

(D) None of these

Coefficient of correlation (r) indicates the extend of relationship between :

(A) two qualitative variables

(B) two quantitative variables

(C) one qualitative variable and other quantitative variable

(D) all of the above
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72. qﬁlﬂqﬁﬂ#mnq&maﬁfaﬁﬁuﬁ%ﬁﬁﬂﬂa{ﬁéuﬁmmm
Hifag :

(a)
(b)
(e)
(d)

2

(A)
(B)
(€

(D)

gt 1

difes 3fmws

wA&

wier=aA

Tafaas AR
(a) (b) (e)
(i) (i) (if)
(iZ) (i) (iv)
(£113) (iv) (1)
(tw) (iii) (i)

73,  ‘“‘fadeen’’ fEaR wEfam § 7

et 11
() wfmTEEE HEs
(if) S B A
(iii) THE F TEA RAAT

(fv) |HT = wfafafy

(d)
(iv)
(iit)
(if)
(i)

74. Wmm(r)ﬁaﬁmﬁ%maﬁamaﬁméﬁam

(A) B TOEE TR
(B) = uftmmomesd =1

(C) TF TOEHE T A4 THG YATTHES T
(D) 3w |+
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75.

76.

77.

78.

79.

When a particular technique applied repeatedly to the same object poducing

the same result each time, it is said to have :
(A) Validity (B) Reliability
(C) Probability (D) Subjectivity

Calculation of number of deaths per thousand people falls under the measure
of :

(A) Nominal scale (B) Ordinal scale
(C) Ratio scale (D) Interval scale

An idea about a given state of affairs put forward in exact terms to provide

basis for empirical testing is known as :

(A) Ideal type (B) Hypothesis

(C) Sociological imagination (D) Empirical research

Who among the following used the method of concomitant variation ?
(A) M. Weber (B) R. Dahrendorf

(C) E. Durkheim " YD) T. Parsons

Name the technique which is to be used before the actual field work

starts :
(A) Pilot study (B) Census study

(C) Case study (D) Survey
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75.

76.

77.

78.

79.

m@ﬁa@mﬁﬁﬂhaﬁmaﬁmmmﬁmmﬂwm
% @ R Fw oww T OIEER

(A) Fua (B) favassam

(C) wifeEa (D) =TIl
uﬁuwwﬁmqmaﬁdmmqﬁammw%mm%?
(A) Aifma Jumm (A ") (B) #9gg® THE

(C) YR TEr (D) sime A

Wﬁwﬁmmmﬁmmaﬁmﬁuﬁémﬁ
gffyea vt # wen famR @ Foow © 7

(A) FR_Y TFR (B) wfEeg
(C)muﬁmm (D) Fwfas MY
rrfefin § @ o Teded sm i fabn @ I W ¥ 2
(A) "TH. (B) ¥R BT

© % gEm (D) A TREH

mmmmm,mmmmmmﬁman@m

™o
(A) WA HEIEA (B) TAGEN AT

(C) T=al #AAHTA (D) waE
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80. What is triangulation ?
(A) A type of qualitative method of research
(B) A type of qulitative analysis
(C) A combination of qualitative and quantitative analyses
(D) A type of non-participant observation

81. At which place does Chandrabhaga (Chenab) leave Chamba district

of HP. ?
{A) Saho (B) - Siul
(C) 8Sal (D) Sansari Nala

82. Keshang and Kerang Khads (streams) are the tributaries of ...............
(A) Beas | (B) Ravi
(C) Satlyj (D) Yamuna
83. In which district of H.P. is Bandli sanctuary ?
(A) Shimla (B) Bilaspur
(C) Una (D) Mandi
84. In which river basin is Sarbari hydro power project ?
(A) Satluj (B) Beas

(C) Rawvi (D) Yamuna
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80. ' faysm ¥ ¥ ?
(A) FEYE 1 e fafe = O TR
(B) "o favEmm w1 TF UK
(C) Tmers IR A fafud = afaam
(D) Tr-wfaurit sEe®T 1 TF THR
g1 =zvm (fomm) fFe wm w few # 9w 5@ & ded & 7
(A) H& (B) ¥«
(C) =& (D) & A
82, wum n wunm weE (Sewwd) fEw d # owemw § 2
(A) =8| (B) T
(C) Haegs (D) =g
g3, aiceh womum few. @ few @ d ¥ 2
(A) fEn (B) fammag
(C) &M (D) WSt
84. Tt @ fagg ot Ay & @@ W ¥ ?
(A) Haes (B) =9

(C) &t (D) =g

AP(CC) Sociology-2016 41 P.T.O.



85.

86,

87.

88.

89.

90.

When was H.P. Agricultural/Horticulture Produce Marketing Act enforced ?
(A) 2005 (B) 2006

(C) 2007 (D) 2008

Which raja made Rampur the capital of his Bushahr princely state ?
(A) Kehri Singh (B) Vijay Singh

(C) Udai Singh (D) Ram Singh

Which raja of Kullu was the son of a concubine ?

(A) Ajit Singh (B) Bikram Singh

(C) Raj Singh (D) Jai Singh

When did Shimla become the summer capital of Government of India ?
(A) 1911 (B) 1905

(C) 1885 (D) 1864

Which Himachali won Victoria Cross during the Second World War ?
(A) Major Som Nath Sharma (B) Jamedar Lala

(C) Sub. Major Bhandari Ram (D) None of these

Who was the first Lokayukta of Himachal Pradesh ?

(A) Justice Bhawani Singh (B) Justice Om Prakash

(C) Justice R.B. Mishra (D) Justice T.V.R. Tatachari
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85. Teuw. Ffuraft s fagm sfufEm & @ 820 7
(A) 2005 H (B) 2006 H
(C) 2007 # (D) 2008 ¥

86. frw T 3 TAQ W S farma g F a@EE w2
(A) FEifdE (B) famise
(C) FafEs (D) TwfEE

87. TG W HEG TN WS F oA 41 7 |
(A) sfaafas (B) fawmfae
(C) T=fds (D) wrafde

88, fomen ¥4 YRd Q@R H UiSHEwE THEE J1O2
(A) 1911 H | (B) 1905 #
(C) 1885 # (D) 1864 #

89. Ted fava g% ¥ fow fewmen =i fasifen w9 fen ?

(A) TR gy ol (B) SHER ©fen
(C) FaeR Fo Wewl uH (D) T J FE T
90. feu. =1 Yeen WEIgE WA 41 ?
(A) =i sEwiTEe (B) =Imid simwe
(C) =mamfd st famn (D) =i FelaR. ZTerE
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91. Who became the first Woman Director General of Sashastra Seema Bal

(SSB) ?
(A) Kiran Bedi (B) Arundhati Bhattacharya
(C) Archana Ramasundaram (D) Jyotsna Suri

92.  Around which year was the National Archives of India set up ?
(A) 1861 (B) 1885
(C) 1889 (D) 1891

93. Persons of which age-group are eligible for Atal Pension Yojl;a ?
(A) 16 to 60 years (B) 18 to 40 years
(C) 20 to 50 years (D) 20 to 70 years

94. In which District of Maharashtra is Shani Shingnapur temple ?
(A) Ahmednagar (B) Akola
(C) Amaravati e (D) Dhule

95. When was Gram Uday Se Bharat Uday Abhiyan launched ?
(A) 15 March, 2016 (B) 31 March, 2016

(C) 14 April, 2016 (D) 7 May, 2016
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91. WWW(W-@.ﬁ-)ﬁ@mm#ﬁ?
(A) f@ra af (B) @reefi vigrard
(C) FrEn TIE=TH (D) s gl

92. Wm@ﬁqﬁmzﬁmmaﬁﬁmﬁ?
(A) 1861 (B) 1885
(C) 1889 (D) 1891

03, Ty smg-wl & =R wew YW e F U F 2

(A) 16 | 60 a4 (B) isiuoad

(C) 20 & 50 =9 (D) 20 & 70 =4

94. mﬁme%mﬁai%?

95. mm%mmmﬁﬁwmmg ?
(A) 15 W€, 2016 (B) 31 #5rd, 2016

(C) 14 =%, 2016 (D) 7 =%, 2016
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96.

97.

98.

100.

<

Who is Jimmy Morales ?
(A) President of Chad (B) Prime Minister of Hungary
(C) President of Guatemala (D) An American actor

Who is the leader of Law and Justice Party which won the Parliamentary

elections held in Poland in October-November, 2015 ?

(A) dJaroslaw Kacynski (B) Andrej Kiska

(C) Andrezoz Duda (D) Ewa Kopacz

Where was the venue of G-20 Summit held in November 2015 ?
(A) Ankara (B) Istambul

(C) Adana (D) None of these

To which country did Jeanne Calment who holds the World record for longest

lived person belong ?

(A) Denmark (B) Sweden

(C) France i (D) Belgium
Which is the tallest building in the world ?

(A) Burj Khalifa (B) Cayan Tower

(C) Burj Al-Arab (D) None of these
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96. fordt wroeq A 8 7
(A) =S @ U= (B) #M8 & WHH "
(C) TEreHIEn @ gy (D) U AT At

97. drivs ol sir whew T, R sEgE-TEE, 2015 F awdd g oW, §

mowR E 2
(A) ST EaEE (B) sizw fEe
(C) oS GBI D) T& FrEd

98, wamt, 2015 # g W20 frar W@ @ WH FE 4@ 7
(A) 3= (B) i
(C) 3= (D) = | FR T

99. ﬁﬁmﬁzmmaﬁmﬁsﬁﬁamﬁwmmtmiﬂaﬁ

qap 7
(A) =T (B) w=h=a
(C) WiF (D) afesan

100. fovg ¥ waQ S+ TWRA I E 2
(A) 55t @ErH (B) &EA &t

(C) =& HA-HE (D) T [ =
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